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Aufgaben-Quickname: 5462

Aufgabe 1
Quick:
5462

Berechne den Prozentwert.

a) 0 % von 33=0 b) 25 % von 28=7 c) 95 % von 80=76
d) 82 % von 50=41 e) 100 % von 12=12 f) 51 % von 100=51
g) 80 % von 40=32 h) 55 % von 40=22 i) 60 % von 10=6
j) 75 % von 56=42

Aufgabe 2
Quick:
5462

Berechne den Prozentwert.

a) 50 % von 40,6=20,3 b) 50 % von 46,8=23,4 c) 30 % von 32=9,6
d) 45 % von 12=5,4 e) 60 % von 45,5=27,3 f) 85 % von 30=25,5
g) 0 % von 47,8=0 h) 90 % von 22=19,8 i) 80 % von 16,5=13,2
j) 75 % von 9,2=6,9

Aufgabe 3
Quick:
5462

Berechne den Prozentwert.

a) 50 % von 64=32 b) 60 % von 80=48 c) 80 % von 20=16
d) 56 % von 50=28 e) 50 % von 80=40 f) 99 % von 100=99
g) 84 % von 25=21 h) 75 % von 52=39 i) 80 % von 55=44
j) 60 % von 40=24

Aufgabe 4
Quick:
5462

Berechne den Prozentwert.

a) 56 % von 175=98 b) 100 % von 574=574 c) 100 % von 297=297
d) 52 % von 550=286 e) 100 % von 130=130 f) 50 % von 552=276
g) 28 % von 650=182 h) 100 % von 913=913 i) 75 % von 304=228
j) 95 % von 500=475

Viel Erfolg!
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